ojn m
A
Il

as)
Q

=CB

B
@ BC

ol

i}
B
oo~ O
nll aa]
O_E Il

M
™ =

Hip 22 A4 1 9ol |l 4 A,B,C,D 7F 3let. o

a

|7 ol
wulm_m S @



@sH @4 @54

@ 67N

® 77

EF, DF, CF & 3 7jo|t}.




®@e00 ®e00

ONGICIQ)
ONVICI®)

®ooe




2.2 W7 /XOY 9] o] 5BHE Awgt Aol [ o] =
7z A7 e vr2A A2 o1

@ O0A=[ et

© «AOC=[  |=90° o]t}

© XY[  ]OP °Jth
O OP, /BOC, // ® OP, /BOC, L
® OP, /POX, // @ 0C, /BOC, //
@@, /BOC, 1

OA = OB = OC °o|t}. /AOC = /BOC = 90° °]t}. XYLOP
o|ct,




ID

<

=DO

@ AO

@ /AOB = /BOC
® AC

=BD

@ /AOD = 3,C0D

®oc

= AD




AABCO thet A7 F &4 &2 227

® B2 & ACO]tt. @ AB9| tjZ-2 sColtt.

® BOo| f7e «CcABelet.  (@)AB>AC + BC
® AC<AB+BC

@ H2GNA & W) Foli UriA £ we] hojo] gt
A},




Tol A2 the 5 719 4 A.B,C.D,E 7} 9hek. o] & F 4 e
NS BT R A 28 4 T

A

od
e

Qe
Te

@ 10 7 @ 12 7 3@ 15 7} @ 18 7| @207H

~&B
5% (5-1)

A A 2

(AL %) = (HA A5 x 2

whakA] 20 o],

=10




_o----18em----_
A P B Q C

@ 2cm @ 6cm ® 9cm ®)12cm ® 15cm

~&B ~

AC=AP+PB+BQ+QC=AP+2xAP+2xQC+ QC=
3AP 4 3QC= 3(AP + QC) = 18(cm)

~AP+QC=6cm ]2, PQ=AC-(AP+QC)=18-6=
12( cm)




S 784 /AOB + £COD = 60° & o, zx o] 372

Ce D

@® 50° @)60° ® 70° @ 80° ® 90°

Lx+ /AOB =90°, zx+ £COD = 90°°] 22 /AOB = /COD
ot
b LAOB = £COD = 30°, £x+30° = 90° O] 2.2 zx = 60°
o|tt.




10. & T1¥oA /AOB = 2/BOC, /DOE =
2,COD ¥ 9}, /BOD 2] 27]&?

O 55° @)60° ® 65°
@ 70° ® 80°

B

(BOD = /BOC + «COD
= 1AAOC I %ACOE
= = x (£AOC + £COE)
= -x180°=60°
3 X




11. o5 J2”olA B0 g mgo] 1 o2ty & o the § &2
n- 12 7Ae9

i A .

& A C oA AR AB o] gl SA10] He 24 glo]
it

© A A 2 A4 1 Atole] Azl 3 o]k,
© A B o} 441 1 Aole] Azl o & gtk
® AC 9} TD = A2 FHo|t},

@ H A 9} CD Ate]e] #gl& 3 o]t

P8 006 o0oe ®ee Bee

& A C o4 A AB $lo] el 540] w1 A A o]},
© 3 A 9 A4 1 Apol9] Azl 1 o]et.
© 3 B 2 A4 1 Afolo] A 1 o],

fijo



12.

40°

GD)SO0 @ 90° ® 100° @ 105° ® 110°

B ~
A+ o] g YZhe] 37| 60° O] 22 zx = 40° +60° = 100°
oltt.
EQF zy 4+ 60° + 100° = 180° O] 2= sy = 20° ©|t}.
ak2bA zx — zy = 80° ©|t}.

=




= 1H2 ASAAE v AE0] A2 GAEFolH. KA AD 9

o3

20l BA o] Hf4E a, BAE] AD °F Yl Ao WFE b
2t o, a + b 9] G227

(ON;] @ 6 ©) X @ 8 ® 9

TAE AD ¢} =22l mAJE]: AE, AB, DC, DH
a=4

A2 AD ¢ ®3¥3l mAF: BC, FG, EH
b=3

La+b="T




14. thg 195 2ol 474G o] Al BAAT} A 3
most 377} shte A4EY] 9@ 248 BE B2

5
rE
o
o
olt
oL

@ (A, a, b (@)AA, /B, ¢ ® /B, b, ¢
@ /A, /B, /C (@)a, b, c

AABC 9] 2 2717} stz 2497 9t 2742 @, ©
oJtt.




15. o3 2"HA zx + 2y o] 322

150°

8

140°

@® 50° @ 60° (@)70° @ 80° ® 90°

x+(140°—y) +y = 180° , /x = 40°, £y = 30° °|B2 /x+ /1y =
70° o]t}




16. o= 2" F5aA o] Aol o] MRS 2T A5 HA
tiske] IM 9k AC 9] 1A BA=?

E F
® Bapel} Q) Aol A gt
® 231 9171f giek. @ A}




17.

thS 2 Zo] AR AB 9o 9 A C E

S Zol AC, CBE A7 @ Hlow sl R

A7+ ACD, CBEZ =9ttt the =

A g2 A9 A o B
® /ACE = /DCB @ AE =DB

® (FAC = /GDC @ AAEC = ADBC

@ZDFE = (FAC + /ACF

® (DFE = 180° - (/FAC + /ACF)




s

18. o3 I3} Zo] A P 7t AB o] 3ol 52 1 919 T HY
PA =PB ¥& B Aojt}. () Jof| 502 Aoz &2 g2 7
H7
l
P
.
A Vi B

APAM T} APBM ©f|A]

PM 2 &&Holtt.- @

AML2AB 9 FHOE2 AM = (@) °|t}h---©
ABLIO|EZ /PMA =(®@ ) =90°--©

@, ©, ©c°l ol

APAM = APBM ( ® %)

o] off, PA of tf-35t= M2 (@ )Oo|EEZ PA = (®)o]t}.

® BM @ (PMB ® SAS
@rm ® PB

B

APAM ¥ APBM ©f| 4

PM & 35Holth @

HAM2AB 9 FHo|22 AM = BM °|t}.---©
ABLll o2& /PMA = /PMB =90° ---©®

9, ©, ©°l o5k

APAM = APBM (SAS 3%)
o] o, PA ¢ tf-35t= H2 PB |22 PA = PB ot}




19. o= FollA ol =

kst

‘_nqmo
Bo

ol

~r
IS

o
5
Ho

B!
o
o

©

,_nqmo
B

ol
Eo

1

o
o
Ho

B!

ﬂo

o

0
mo

T
ol

Bo

‘_nqmo

o
ol

)
G
14
<+
o
e
oF
WY
o ot M
B A
<k <F <
W A
B

SEORS)




I A (B = /F, .C = (E ©|t}.
AN
T

©
=

20. o

=DE

® AC

@ BC=FE

@zB =/E

= DF

® AB

@zA =/D

B

=B ol
1] Ny

g 1]
:TE@
= A o

o o] W




